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DG=>F<>=4?4. �<=<<<74F<O 
DG=>F<>=4?4. 'D46=5=<5 
-=?5D4. �D<<5DO D5L5=<O 
7444G. �5F>4O >?F<<<74F<< =4 
>E=>65 ?D<<5=5=<O -��.  
�444G< ?<=5==>7> 
?D>7D4<<<D>64=<O. 
�?4=<D>64=<5 M>E?5D<<5=F4. 
�?4=O ?5D6>7> < 6F>D>7> 
?>DO4>4. 
�D<<5DO. 

��-17 ��-18 

��-14 

��-15 

��-16 

��-7 

�%�-3.5 

�=4FL <5F>4O < ED54EF64 
<7<5D5=<O D<7<G5E><E 
65?<G<=. '<5FL 6O?>?=OFL  
F 5 > D 5 F < G 5 E > < 5 
 <  
M>E?5D<<5=F4?L=O5 
<EE?54>64=<O D<7<G5E><E 
? D > F 5 E E > 6  
7 > D = > 7 > ?D><76>4EF64, 

4=4?<7<D>64FL < 
>D>D<?OFL ?>?GG5==O5 
D57G?LF4FO. �?445FL  
= 4 6 O > 4 < <  
D 4 5 > F O  
M>E?5D<<5=F4?L=>7 >  
> ? D 5 4 5 ? 5 = < O  

M > E ? ? G 4 F 4 F < > = = O E 
<4F5D<4?>6 < <5F>44<< 
 > F 5 = > < 

 ? > 6 5 4 5 = < O 
<4F5D<4?>6 ?>4 
6>745=EF6<5< = 4 
 = < E 
 D 4 7 ? < G = O E 

M>E??G4F4F<>==OE 
D4>F>D>6. �=4FL 
<5F>4>?>7<N =4GG=OE 
<EE?54>64=<=, 
F5>D5F<G5E><5 < 
?D4>F<G5E><5 ?>4E>4O ?D< 
<E ?D>6545=<< ; - <5F>4O 
<EE?54>64=<O < 4=4?<74 
D<7<G5E><E ?D>F5EE>6 
7>D=>7> ?D><76>4EF64 
'<5FL 6O?>?=OFL 
F5>D5F<G5E><5 < 
M>E?5D<<5=F4?L=O5 

<EE?54>64=<O D<7<G5E><E 
? D > F 5 E E > 6  
7 > D = > 7 > ?D><76>4EF64, 
4=4?<7<D>64FL < 
>D>D<?OFL ?>?GG5==O5 
D57G?LF4FO. �?445FL  
= 4 6 O > 4 < <  
D 4 5 > F O  
M>E?5D<<5=F4?L=>7 >  
> ? D 5 4 5 ? 5 = < O 
 M>E??G4F4F<>== O E 
<4F5D<4?>6 < <5F>44<<  
> F 5 = > <  
? > 6 5 4 5 = < O 
<4F5D<4?>6 ?>4 
6>745=EF6<5< = 4  
= < E  
D 4 7 ? < G = O E 
M>E??G4F4F<>==OE 

D4>F>D>6 

� > 4 G 5 E F 6 5 
>F5=>G=OE ED54EF6 
?D< ?D><56GF>G=>= 
 4 F F 5 E F 4 F < <  
E F G 4 5 = F > 6 
 < E ? > ? L 7 G N F E O 
E>55E54>64=<5 ?> 
<F>74< 6O?>?=5=<O 
4><4L=<E 7444=<= < 
74M<F D4EG5F=> 3 
7D4D<G5E><E D45>F. 
� F > 7 > 6 4 O 

4FF5EF4F<O 3 74G5F. 

5.2. &<?>6O5 >>=FD>?L=O5 7444=<O <?< <=O5 <4F5D<4?O 
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5.2.1.�F5=>G=O5 ED54EF64 ?D< F5>GM5< >>=FD>?5 

�F5=>G=O<< ED54EF64<< 4?O F5>GM57> >>=FD>?O O6?ONFEO: GEF=O= >?D>E; D4EG5F=O5 7444=<O 

(?>76>?ONF >F5=<FL ?D<>5D5F5==O5 =46O>< EFG45=F>6 ?> ?D<<5=5=<N =4 ?D4>F<>5 F5>D5F<G5E><E 

7=4=<=) 

5.2.2 �F5=>G=O5 ED54EF64 ?D< ?D><56GF>G=>= 4FF5EF4F<< 

�5D5G5=L 6>?D>E>6 > 74G5FG ?> >GDEG «�5F>4O =4GG=OE <EE?54>64=<=» 

1. �E=>6=O5 ?>=OF<O < >?D545?5=<O- =4G>4, F5>D<O. �D<>?44=O5 =4G><, DG=44<5=F4?L=O5 =4G><, 

=4GG=O5 <EE?54>64=<O, M>E?5D<<5=F, 45F5D<<=<D>64==O5 < EF4F<EF<G5E><5 746<E<<>EF<. 2. �>=OF<5 > 

<=>65EF64E, E6>=EF64 <=>65EF6, 65D>OF=>EFL, ?GEF>5 <=>65EF6>, E?>65=<5 < 6OG<F4=<5 <=>65EF6, 

4>?>?=<F5?L=>5 <=>65EF6>, ?5D5E5G5=<5 <=>65EF6, F5>D5<4 > E?>65=<< 65D>OF=>EF5=. 3. �4>>=O < D>D<O 

<OL?5=<O. �D<=F<? E>>F65FEF6<O 6 =4G>5. $>D<4?L=4O ?>7<>4. �>=OF<5 , =4GG=>5 ?>=OF<5. �4GG=O5 

F5D<<=O. 4. %G645=<5. �FD<F4=<5. �>=NN=>F<O, 4<7NN=>F<O, <<??<>4F<O, M>6<64?5=F<O, ?D<<5DO. 

'<>74>?NG5=<5, >64=F>D >5M=>EF<, >64=F>D EGM5EF6>64=<O. %<??>7<7<. 5. �5F>4O ?D>6545=<O =4GG=OE 

<EE?54>64=<=. %D46=5=<5, <7<5D5=<5, <=4G>F<O, 454G>F<O, 4=4?<7, E<=F57, =4GG=4O 7<?>F574, 45EFD4>F<O, 

>5>5M5=<5, <>45?<D>64=<5. �=4?>7>6>5 < D<7<G5E>>5 <>45?<D>64=<5. �<<F4F<>==>5 <>45?<D>64=<5. 6. 

�E=>6=O5 <5F>4O < ?>=OF<O F5>D<< D47<5D=>EF5= < ?>4>5<O. �>4>5<5. �>MDD<F<5=F < <=4<>4F>D ?>4>5<O. 

&5>D5<4 �LNF>=4 > 4<=4<<G5E>>< ?>4>5<<. 

5.2.3. �5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 7=4=<=, G<5=<=, 

=46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<5 MF4?O D>D<<D>64=<O >><?5F5=F<= 

�E=>6=>= GG55=>= D45>F>= EFG45=F4 O6?O5FEO E4<>EF>OF5?L=4O D45>F4 6 F5G5=<5 6E57> ED>>4 

>5GG5=<O. �4G<=4FL <7GG5=<5 4<EF<??<=O =5>5E>4<<> E >7=4>><?5=<O E F5?O<< < 7444G4<< 4<EF<??<=O < 

7=4=<O<< < G<5=<O<<, ?D<>5D5F45<O<< 6 ?D>F5EE5 <7GG5=<O. �4?55 E?54G5F ?D>D45>F4FL >>=E?5>FO ?5>F<=, 

D4EE<>FD56 >F45?L=O5 6>?D>EO ?> ?D54?>65==O< <EF>G=<>4< ?<F5D4FGDO. �E5 =5OE=O5 6>?D>EO ?> 

4<EF<??<=5 EFG45=F <>65F D47D5L<FL =4 >>=EG?LF4F<OE, ?D>6>4<<OE ?> D4E?<E4=<N. �D< ?>47>F>6>5 > 

?D4>F<G5E><< 74=OF<O< EFG45=F 6 >5O74F5?L=>< ?>DO4>5 <7GG45F F5>D5F<G5E><= <4F5D<4? 6 E>>F65FEF6<< E 

<5F>4<G5E><<< G>474=<O<< > ?D4>F<G5E><< 74=OF<O<. 

6 �5D5G5=L >E=>6=>= < 4>?>?=<F5?L=>= GG55=>= ?<F5D4FGDO, =5>5E>4<<>= 4?O >E6>5=<O 

4<EF<??<=O "�E=>6O =4GG=OE <EE?54>64=<=" 

6.1 �E=>6=4O ?<F5D4FGD4 

1. �?N><=, �. �. �E=>6O =4GG=OE <EE?54>64=<= [-?5>FD>==O= D5EGDE] : >GDE ?5>F<= 4?O EFG45=F>6 
E?5F<4?L=>EF< 130406 «,4EF=>5 < ?>475<=>5 EFD><F5?LEF6>» / �. �. �?N><= ; $���' ��� «�G754E. 7>E. F5E=. 
G=-F <<. &. $. �>D54G564», �4D. EFD-64 ?>475<. E>>DG65=<= < L4EF. 3 �5<5D>6> : �744F5?LEF6> �G7�&', 2011. 3 
44 E.1 M?5>FD>=. >?F. 4<E> (CD-ROM) 3 �>EFG?=4 M?5>FD>==4O 65DE<O: 
http://library.kuzstu.ru/meto.php?n=90542&type=utchposob:common 

 

6.2 �>?>?=<F5?L=4O ?<F5D4FGD4 

 

2. �E=>6O =4GG=OE <EE?54>64=<= < F6>DG5EF64 [-?5>FD>==O= D5EGDE] GG55=>5 ?>E>5<5 / �.�. �>DO><=, 
�.�. �D>=>74; $���' ��� «�G754E. 7>E. F5E=. G=-F <<. &.$. �>D54G564». 3 �5<5D>6>. �G7�&', 2012. 3 46 E. 
http://library.kuzstu.ru/meto.php?n=90718&type=utchposob:common 

3. %GE?<=4, �.�. �E=>6O =4GG=OE <EE?54>64=<= [-?5>FD>==O= D5EGDE]: GG55=>5 ?>E>5<5 4?O EFG45=F>6 
6G7>6 / �.�. %GE?<=4; $���' ��� «�G754E. 7>E. F5E=. G=-F <<. &.$. �>D54G564». - �5<5D>6>, 2015. 3 160 E. 
http://library.kuzstu.ru/meto.php?n=91325&type=utchposob:common 

4. �?N><=, �.�. �4GG=>-<EE?54>64F5?LE>4O D45>F4 [-?5>FD>==O= D5EGDE] : GG55=>5 ?>E>5<5 4?O 
EFG45=F>6 =4?D46?5=<O ?>47>F>6>< 21.05.05. «�>D=>5 45?>» / �. �. �?N><=; $���' �� «�G754E. 7>E. F5E=. G=-F 
<<. &. $. �>D54G564», �4D. EFD-64 ?>475<. E>>DG65=<=, L4EF < D47D45. <5EF>D>645=<= ?>?57. <E>>?45<OE. - 
�5<5D>6> : �744F5?LEF6> �G7�&' , 2015. 3 43 E. 
http://library.kuzstu.ru/meto.php?n=91344&type=utchposob:common 

5. %GE?<=4, �.�. �4GG=O5 >E=>6O <=65=5D=>= 45OF5?L=>EF< [-?5>FD>==O= D5EGDE] : GG55=>5 ?>E>5<5 
4?O EFG45=F>6 6G7>6, >5GG4NM<EEO ?> E?5F<4?L=>EF< 130406.65 «�5>74M5=<5 ?>?57=OE <E>>?45<OE» / �. �. 
%GE?<=4; $���' ��� «�G754E. 7>E. F5E=. G=-F <<. &. $. �>D54G564» �5<5D>6> : �744F5?LEF6> �G7�&' , 2013. 3 
152 E. http://library.kuzstu.ru/meto.php?n=91125&type=utchposob:common 

6.�D5M<=E><=, �. �. �5F>4>?>7<O =4GG=OE <EE?54>64=<= : GG55=<> 4?O 54>4?46D<4F4 < <47<EFD4FGDO / 

�. �. �D5M<=E><=. 4 2-5 <74., ?5D5D45. < 4>?. 4 �. : �744F5?LEF6> .D4=F, 2017. 4 324 E. 4 (%5D<O : 

�4>4?46D < <47<EFD. �>445<<G5E><= >GDE). 4 ISBN 978-5-534-02965-9. 4 $56<< 4>EFG?4 : www.biblio-

online.ru/book/8600D715-1FEB-4159-A50C-F939A48BE9C1. 
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7 �5D5G5=L D5EGDE>6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» 

�D<F<4?L=O= E4=F �G754EE>>7> 7>EG44DEF65==>7> F5E=<G5E>>7> G=<65DE<F5F4 <<5=< &. $. �>D54G564. 
 
$56<< 4>EFG?4: www.kuzstu.ru.  
�D<F<4?L=O= E4=F D<?<4?4 �G7�&' 6 7. �5?>6>. $56<< 4>EFG?4: http://belovokyzgty.ru 

8 �5F>4<G5E><5 G>474=<O 4?O >5GG4NM<EEO ?> >E6>5=<N 4<EF<??<=O "�E=>6O =4GG=OE 

<EE?54>64=<=" 

�E=>6=>= GG55=>= D45>F>= EFG45=F4 O6?O5FEO E4<>EF>OF5?L=4O D45>F4 6 F5G5=<5 6E57> ED>>4 

>5GG5=<O. �4G<=4FL <7GG5=<5 4<EF<??<=O =5>5E>4<<> E >7=4>><?5=<O E F5?O<< < 7444G4<< 

4<EF<??<=O < 7=4=<O<< < G<5=<O<<, ?D<>5D5F45<O<< 6 ?D>F5EE5 <7GG5=<O. �4?55 E?54G5F 

?D>D45>F4FL 

>>=E?5>FO ?5>F<=, D4EE<>FD56 >F45?L=O5 6>?D>EO ?> ?D54?>65==O< <EF>G=<>4< ?<F5D4FGDO. �E5 

=5OE=O5 

6>?D>EO ?> 4<EF<??<=5 EFG45=F <>65F D47D5L<FL =4 >>=EG?LF4F<OE, ?D>6>4<<OE ?> D4E?<E4=<N. �D< 

?>47>F>6>5 > ?D4>F<G5E><< 74=OF<O< EFG45=F 6 >5O74F5?L=>< ?>DO4>5 <7GG45F F5>D5F<G5E><= <4F5D<4? 

6 E>>F65FEF6<< E <5F>4<G5E><<< G>474=<O<< > ?D4>F<G5E><< 74=OF<O<. 

 

9 �5D5G5=L <=D>D<4F<>==OE F5E=>?>7<=, <E?>?L7G5<OE ?D< >EGM5EF6?5=<< >5D47>64F5?L=>7> 

?D>F5EE4 ?> 4<EF<??<=5 "�E=>6O =4GG=OE <EE?54>64=<=", 6>?NG4O ?5D5G5=L ?D>7D4<<=>7> 

>55E?5G5=<O < <=D>D<4F<>==OE E?D46>G=OE E<EF5< 

�?O <7GG5=<O 4<EF<??<=O <>65F <E?>?L7>64FLEO E?54GNM55 ?D>7D4<<=>5 >55E?5G5=<5:  
1. ESET Remote Administrator 6   
2. Libre Office   
3.Mozilla Firefox  

 

10 �?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O, =5>5E>4<<>= 4?O >EGM5EF6?5=<O 

>5D47>64F5?L=>7> ?D>F5EE4 ?> 4<EF<??<=5 "�E=>6O =4GG=OE <EE?54>64=<=" 

 

�?O >EGM5EF6?5=<O >5D47>64F5?L=>7> ?D>F5EE4 ?> 44==>= 4<EF<??<=5 =5>5E>4<<4 
E?54GNM4O <4F5D<4?L=>-F5E=<G5E>4O 5474: 

- 'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4, 74=OF<= E5<<=4DE>>7> F<?4, 

7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<< 7308, 

>E=4MU==4O <G?LF<<54<==O< >5>DG4>64=<5<: �=F5D4>F<6=4O E<EF5<4 SmartBoardSB680. �>GF5G> Acer 

Extensa 5230E 15.4 4N=<>6O= M>D4=, 2 ��F F4>F>64O G4EF>F4 , 2 �5 ��', 256 �5 6<45>?4<OFL. �D>7D4<<=>5 

>55E?5G5=<5 :Microsoft Windows7, ?4>5FO  Office 2007 < 2010.�D>7D4<<=O= >><??5>E Smart  4?O 

<=F5D4>F<6=OE >><??5>F>6. 

�?O E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO <E?>?L7G5FEO =4GG=>-F5E=<G5E>4O 5<5?<>F5>4, 

>><?LNF5D=O= >?4EE 7209, >E=4MU==O5 >><?LNF5D=>= F5E=<>>= E ?>4>?NG5=<5< > E5F< «�=F5D=5F» < 

4>EFG?>< 6 M?5>FD>==GN <=D>D<4F<>==> - >5D47>64F5?L=GN ED54G D<?<4?4. 

11 �=O5 E6545=<O < (<?<) <4F5D<4?O 

       �D< >EGM5EF6?5=<< >5D47>64F5?L=>7> ?D>F5EE4 ?D<<5=ONFEO E?54GNM<5 >5D47>64F5?L=O5 F5E=>?>7<<: 

FD44<F<>==4O E <E?>?L7>64=<5< E>6D5<5==OE F5E=<G5E><E ED54EF6,  <=F5D4>F<6=4O. 

 

 

 

 

 

 

 



1507090232 

10 

 

 

 

 

 

 

 

 

 

%?<E>> ?<F5D4FGDO ?> 4<EF<??<=5 «�E=>6O =4GG=OE <EE?54>64=<=» ?> E>EF>O=<N =4 01.12.2017 7. 
 

�E=>6=4O ?<F5D4FGD4: 

1. �?N><=, �. �. �E=>6O =4GG=OE <EE?54>64=<= [-?5>FD>==O= D5EGDE] : >GDE ?5>F<= 4?O EFG45=F>6 
E?5F<4?L=>EF< 130406 «,4EF=>5 < ?>475<=>5 EFD><F5?LEF6>» / �. �. �?N><= ; $���' ��� «�G754E. 7>E. F5E=. 
G=-F <<. &. $. �>D54G564», �4D. EFD-64 ?>475<. E>>DG65=<= < L4EF. 3 �5<5D>6> : �744F5?LEF6> �G7�&', 2011. 3 
44 E.1 M?5>FD>=. >?F. 4<E> (CD-ROM) 3 �>EFG?=4 M?5>FD>==4O 65DE<O: 
http://library.kuzstu.ru/meto.php?n=90542&type=utchposob:common 

 
�>?>?=<F5?L=4O ?<F5D4FGD4: 

1. �E=>6O =4GG=OE <EE?54>64=<= < F6>DG5EF64 [-?5>FD>==O= D5EGDE] GG55=>5 ?>E>5<5 / �.�. �>DO><=, 
�.�. �D>=>74; $���' ��� «�G754E. 7>E. F5E=. G=-F <<. &.$. �>D54G564». 3 �5<5D>6>. �G7�&', 2012. 3 46 E. 
http://library.kuzstu.ru/meto.php?n=90718&type=utchposob:common 
2. %GE?<=4, �.�. �E=>6O =4GG=OE <EE?54>64=<= [-?5>FD>==O= D5EGDE]: GG55=>5 ?>E>5<5 4?O EFG45=F>6 
6G7>6 / �.�. %GE?<=4; $���' ��� «�G754E. 7>E. F5E=. G=-F <<. &.$. �>D54G564». - �5<5D>6>, 2015. 3 160 E. 
http://library.kuzstu.ru/meto.php?n=91325&type=utchposob:common 
3. �?N><=, �.�. �4GG=>-<EE?54>64F5?LE>4O D45>F4 [-?5>FD>==O= D5EGDE] : GG55=>5 ?>E>5<5 4?O 
EFG45=F>6 =4?D46?5=<O ?>47>F>6>< 21.05.05. «�>D=>5 45?>» / �. �. �?N><=; $���' �� «�G754E. 7>E. F5E=. G=-F 
<<. &. $. �>D54G564», �4D. EFD-64 ?>475<. E>>DG65=<=, L4EF < D47D45. <5EF>D>645=<= ?>?57. <E>>?45<OE. - 
�5<5D>6> : �744F5?LEF6> �G7�&' , 2015. 3 43 E. 
http://library.kuzstu.ru/meto.php?n=91344&type=utchposob:common 
4. %GE?<=4, �.�. �4GG=O5 >E=>6O <=65=5D=>= 45OF5?L=>EF< [-?5>FD>==O= D5EGDE] : GG55=>5 ?>E>5<5 
4?O EFG45=F>6 6G7>6, >5GG4NM<EEO ?> E?5F<4?L=>EF< 130406.65 «�5>74M5=<5 ?>?57=OE <E>>?45<OE» / �. �. 
%GE?<=4; $���' ��� «�G754E. 7>E. F5E=. G=-F <<. &. $. �>D54G564» �5<5D>6> : �744F5?LEF6> �G7�&' , 2013. 3 
152 E. http://library.kuzstu.ru/meto.php?n=91125&type=utchposob:common 
5. �D5M<=E><=, �. �. �5F>4>?>7<O =4GG=OE <EE?54>64=<= : GG55=<> 4?O 54>4?46D<4F4 < <47<EFD4FGDO / 
�. �. �D5M<=E><=. 4 2-5 <74., ?5D5D45. < 4>?. 4 �. : �744F5?LEF6> .D4=F, 2017. 4 324 E. 4 (%5D<O : 
�4>4?46D < <47<EFD. �>445<<G5E><= >GDE). 4 ISBN 978-5-534-02965-9. 4 $56<< 4>EFG?4 : www.biblio-
online.ru/book/8600D715-1FEB-4159-A50C-F939A48BE9C1. 
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